
Nombre: 　　　　　　　 Fecha: 　　　　　　 Puntuación: 　　　

Multiplicar por potencias de diez (número faltante)

4, 083 × ________ = 408.3 8, 951 × ________ = 8951

7, 459 × ________ = 7459 9, 9 × ________ = 99

4, 604 × ________ = 460.4 2, 978 × ________ = 297.8

2, 74 × ________ = 274 5, 112 × ________ = 511.2

8, 633 × ________ = 863.3 4, 164 × ________ = 416.4

10, 313 × ________ = 1031.3 3, 092 × ________ = 30.92

5, 202 × ________ = 520.2 9, 722 × ________ = 972.2

4, 667 × ________ = 4667 5, 619 × ________ = 56.19

10, 984 × ________ = 10984 4, 538 × ________ = 4538

8, 899 × ________ = 8899 6, 523 × ________ = 6523
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Nombre: 　　　　　　　 Fecha: 　　　　　　 Puntuación: 　　　

Multiplicar por potencias de diez (número faltante)

4, 083 × 100 = 408.3 8, 951 × 1000 = 8951

7, 459 × 1000 = 7459 9, 9 × 10 = 99

4, 604 × 100 = 460.4 2, 978 × 100 = 297.8

2, 74 × 100 = 274 5, 112 × 100 = 511.2

8, 633 × 100 = 863.3 4, 164 × 100 = 416.4

10, 313 × 100 = 1031.3 3, 092 × 10 = 30.92

5, 202 × 100 = 520.2 9, 722 × 100 = 972.2

4, 667 × 1000 = 4667 5, 619 × 10 = 56.19

10, 984 × 1000 = 10984 4, 538 × 1000 = 4538

8, 899 × 1000 = 8899 6, 523 × 1000 = 6523

www.snowmath.com

https://www.snowmath.com

